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INSTRUCTIONS FOR THE CANDIDATES

4.

Part-Il consists of three subject groups

containing questions as following.
(a) Science Q.No. 101 to 140
(b) Social Studies Q.No. 141to 180
(c) Mathematics  Q.No. 181 to 200

Attempt all the question from every subject.

Find out the correct altemative from given four
alternatives for each question and write its
number on your answer sheet against proper

question number.

Please start your work.

- 36 e gRaT ¥ %6 Bl d AR wE ff g A 7 faRav

N.B.: Do not write anything in the booklet except rough work.
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fame Science
101. WXy sii@t & o 7 farg sl o fram 101. What is the far point for normal human
AAE? eyes?
1. 25 9t 2. 50 et 1. 25cm 2. 50cm
3. 100 &t 4. 37 W 3. 100cm 4. TInfinity
102. 761 1 AYSAA® B B 102. Refractive index of water is-
1. 1.00 2. 1.33 1. 1.00 2. 133
3. 152 4. 24 3. 152 4. 242
103. W& =ifch 319 =94 1 20 FHt Wy gd 103. A manused a convex lens of focal length
IS A WA FN ¥ 3 o W of 20 cm in his spects, the power of this
&l - lens is-
1. 42D 2. -2D 1. +2D 2. -2D
3. +5D 4. 5D 3. +5D 4. -5D
104.  Toreit uftas Haeeriion &1 want fan s - 104. Inanelectric circuit, the voltmeter is used-
1. SOt R H 2. gumawE § 1. inseries 2. inparallel
3. SFYFERE 4. 39 U FE E 3. inbothmanner4. None of these
105. Uk &A¥S 9fh s 105. One horse power (H.P.) is equal to-
1. 467 9ic 2. 500 37 1. 467 watt 2. 500 watt
3. 7461 4. 1,000 A7 3. 746 watt 4. 1000 watt
106. I IO F01 © 106. A magnet attracts -
1. had &ral %1 1. onlyiron
2. ®HaA FECE i 2. onlycobalt
3. whaq ffee @ 3. onlynickel
4. 3ITYE Gt = 4. Alltheabove
107. Fefafem & = @/ dfar Ta §2 107. Which ofthe following is the Bio/Gobar gas?
1. CH+CO, 2. CHA4NO, 1. CH#CO, 2. CHNO,
3. CO+H, 4 CO,N, 3. CO+H, 4. COqN,
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D T

108.

109.

110.

111.

112.

fordt faega oot & ag o € 0.5 A faem
4T 10 forre e e 2t @ | forega aitae
T yafea formqa ST St O ST |
1. 5C 2. 20C

3. 300C 4. 500C

<q fordi, (), wlish & 3l & wEw
% ford fore T & S 1 I AT FW 2
1. IgAeqU 2. EAA SUU
3. gwae gdu 4. STE Wl

e foreye ares W 12 diee adn 30 |ie feran
¥ | o vated o oA el SIeeRaH
2t

1. 0.4amp 2. 2.5amp

3. 12amp 4. 360 amp

TR &1 1 Hiera 1 WS S -
1. AN

2. A/

3. 3=

4, T q HE T
FreraEt HUIT 1 STHR B 5-
1. 10°—10° metre

2. 10%—10° metre

3. 10— 10" metre

4, T AFE T

108.

109.

110.

111.

In a electric bulb filament 0.5 ampere
current is passed for 10 minutes, calculate
the electric charge passes through the circuit
1. 5€ 2. 20C

3. 300C 4. 500C

Which of the following mirror is used by a
dentist to examine the patient teeth?
1. Convexmirror 2. Concave mirror

3. Planemirror 4. Alltheabove.

An electric bulb has rating of 30W, 12V.
The maximum current can pass through it,
will -

1. 0.4amp 2. 2.5amp

3. 12amp 4. 360 amp

What is the unit of magnetic field intensity-
weber

Newton/ampere-metre*

Tesla

None of these

oW -

112. Thesize of colloidal particles are

1. 103 —10° metre
2. 10%—10° metre
3. 107°— 10" metre
4

. None of the above

113. i T A - 113. Synthetic fibre Nylon is a-
1. el THREE 2. et g 1. Polyamides 2. Polysaccharide
3. URh Wy 4. Wen Ui 3. Polyester 4. Polyethene

NTS 2021 (23) contd.



114. L.P.G. 1 g&q 92 - 114. Main component of L.P.G is
1. AT+ uA 1. Methane + Ethane
2. W+ WU 2. Ethane + Propane
3. WU + = 3. Propane + Butane
4. 39F® § 9 FE A6 4. None of the above
115, “famer"’ f=1 1§ 9 faraen s €2 115. "Cinnabar"isan ore of which of the following
1. Mg 2. Hg 1. Mg 2. Hg
3. Ag 4. Au 3. Ag 4. Au
116, Uehd &1 |WH- G &- 116. The general formula of Alkanes is-
. CH, 2. CH,_, L CH,, 2. 1 . -
3. CH,_, 4. C .H, 3. CH,, 4. C H,_
7. 1 S0 €, I GG H I 117. What is formed when chlorine gas passes
vafed Sl St §- through dry slaked lime-
1. CaCl, 1. CaCl,
2. CaO 2. CaO
3. CaOCL 3. CaOCL,
4. T8 ¥ B &I 4. None of the above
118. 99 9§ 1 Y9 &R & 118. Which ofthe following is a strong base-
1. NH,OH 2. Ca(OH), 1. NH,OH 2. Ca(OH),
3. NaHCO, 4. KOH 3. NaHCO, 4. KOH
NaCl(oq) + AgNO3(2q) ——  NaCl(aq) +AgNO3(oq) —
" AgCIL +NaNOy(uy) — AgClL +NaNO5(5g)
Irge st & above reaction is a —
1. SERuvYg SfufEean 1. Reversible reaction
2. faueq sifyufean 2. Decomposition reaction
3. Armerss sifufwar 3. Addition reaction
4. fgfararam sifufea 4. Double displacement reaction
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| 120. e fosy v v fsn el W S &- 120. Analloywhich does not contain copper is
L 1. Taferm 2.0 w0 1. Magpalium 2. Bronze
E 3. dad 4. <A e 3. Brass 4. German Silver
‘r 121, e B ¥ B wTEE 1 ATTET T R 121. Which of the following is not an allotropic
1. B 2. NFEE form of carbon-
| 3. eRH 4. I F HE T 1. Diamond 2. Graphite
3. Fullerene 4. None of these
122. TH T S wE H ST W g 122. A substance which oxidises itself and
TR Y ST A AT - reduces other is a-
1. T AR 1. AnOxidisingAgent
2. TH AR 2. AReducingAgent
3. fasfelt 3. ADehydrating Agent
| 4. TH IHF 4. ACatalyst
} 123, foreem T R S Aft H fopeeedien 123. Water of crystalization in Gypsum and
| STl T e T el & plaster of paris are respectively-
| 1. 2T 2. 2w Y 1. 2&1 2. 2&%
k 3. 12 4. YoTE2 3. 1&2 4 V&2
‘ 124. FreAferfien & = = vy, ot o W 124. Which ofthe following sets does not belong
=1 gafela T8 &L to a group-
l. LiNa,K 2. BeMg,Ca 1. LiNa,K 2. Be,MgCa
3. N,OF 4. He,Ne, Ar 3. N,O,F 4. HeNeAr
125. S TET T TH IR - 125. A by product of soap industry is-
1. Hfeu TGRS 1. Sodium hydroxide
2. difean TR 2. Sodium palmitate
3. e 3. Glycerol
4. @A @ 4. FatorOil
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126. TS % HERW W 39 R TF &0 U4 =g St 126. Corrosion of copper gives rise a green
B0 2t & coating on it which is -
1. CuO 2. Cu(OH), 1. CuO 2. Cu(OH),
3. CuCO, 4. CuCO,Cu(OH), 3. CuCO, 4. CuCO,Cu(OH),
127. T wifermm =t w1 1 viere w89 127. Which organelles of cell is called power
€7 house of cell -
1. wHESIvgar 2. efideas 1. Mitochondria 2. Chloroplast
3. TsEEH 4. wEEEm 3. Ribosome 4. Lysosome
128. i SmTa aiteReol for Smfaes X wfaarfeq 128. Scientist, who proposed five kingdom
rarg- classification is
1. hiew fafa 2. fedex 1. Carolus Linnaeus 2. Whittaker
3. e SIS 4.7 €t faw 3. RobertBrown 4. Hugo de Vries
129. =W Hi¥rE fhe |9 & sgedt & ueh 129. Nematoblast or stinging cells are found in
STl §- which phylum of animals
1. 9T 2. THleter 1. Porifera 2. Annelida
3. frefem 4. sngtirer 3. Cnideia 4. Arthropoda
130. YR WYY i fwa fEw wifvmET | 130. Photosynthesis occurs in which cellular
Bt &- organelles
1. WEdwIvE 2. TSy 1. Mitochondria 2. Ribosome
3. meitwE 4. B cEw 3. Golgibody 4. Chloroplast
131. o @ =1 frmfor fee o7 o g &= 131.  Inwhich organ, bile juice formation take place
1. THa 2. fommem 1. Liver 2. Gall bladder
3. FHENHE 4. M 3. Pancreas 4. Stomach
132, TEEERIEraE 1 R i 3 o 2E e 132. Where, glycolysis occurs in cell
1. gertvgan | 1. InMitochondria
2. @@ o= | 2. InChloroplast
3. wNIESH 3. InCytolpasm
4, ®<HH 4. InNucleus
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133.

g W ufEeR d fea s §
S -

133.

In which animal, open blood vascular
system is found?

1. wgenH 2. wThrE H 1. InEarthworm 2. InPeriplaneta
3. ATAH 4. ek | 3. InMan 4. InFish
134. T3 aiq-ae 7 ) AR 1T HEd o 134. Which endocrine gland is called master
1. AEES 2. ufgaa gland
3. oEHd 4. faegedt 1. Thyroid 2. Adrenal
3. Thymus 4. Pituitary
135. I |1 e B Y gefaa S S 135. Which plant hormone causes apical
& dominance?
1. e 2. fomtea 1. Auxine 2. Gibberelline
3. WEEEAE 4. $UEH 3. Cytokinine 4. Ethylene
136. T wRE F faar e S J 136. Scientistwho proposed the theory of natural
feam - selection was -
1. e 2. = eife 1. Lamark 2. Charles Darwin
3. TEEH 4. TR 3. Waldayer 4. Muller
137, Sirieae fma 3 1 & T T wd 137. Which gas is used in aerobic respiration -
& 1. Oxygen 2. Carbondioxide
1 SRlS 2. T SR SRS 3. Nittogen 4. Methane
3. EgeE 4. BT
138. Cholera disease caused by which
138, ShTERT AT TeRe AT BT Bl ®- pathogen-
1. fommy 2. famy 1. Virs 2. Bacteria
3. w9 4. GRS 3. Fungus 4. Protozoa
139. o e & e At B §- 139. Which group of organisms are heterotropic
1. Y 2. FE® 1. Algae 2. Fungi
3. sErEE 4. REwEEA 3. Bryophyta 4. Pteridophyta
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140.  ZTl =T 51 Th9 e B 140. Which is called currency of energy
1. D.N.A. 2. RN.A. 1. D.N.A. 2. RNA.
3. ATP 4. N.A.D. 3. ATP 4. N.AD.
wraThTeh 3TeaT Social Studies
141. 9= F w9 FEl e & 141. Where is Sanchi stupa situated?
1. T 2. ofisHl 1. Gaya 2. Lumbini
3. OEEy 4. H9re 3. Samath 4. Bhopal
142, O92 3190 9 fora a9 =7 2199w 91- 142. Which relegion did Ashoka adopt?
1. drg 2. feg 1. Buddhism 2 Hmdmsm
3. M 4. 99 3. Jainism 4. Shaivism
143.  STeT01 YA &1 YT=-aq 9T i - 143. Which isthe oldest language of South India?
1. e 2. FHS 1. Telugu 2. Kannada
3. dafge 4. FerEre™ 3. Tamil 4. Malayalam
144. gqaﬁ,ﬁ'@aﬁ@ﬁqwﬁq:ﬂqgmm 144. Who among the following had introduced
feram a1- market control policy?
1. e 1. Balban
2. emsEm Taest 2. Alauddin Khilji
3. e fam g 3. Muhammad Bin Tuglaq
4. enersen faerst 4. Jalaluddin Khilji
145. TaSETR 9T F9 w99 et 145. Who amongthe following founded the Vijay
q e o - Nagar empire?
. fasa 1. VijayRai
2. &fteT 3 gqae 2. Harihar and Bukka
3. qeEfas g 3. Pushyamitra Sunga
4. o EeM 4. Rana Sanga
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146. TSR A aelfafed fee TR @l @ 146. Which of the following cities was built by
q1? Akbar?
1. Qg 2. Thaeqt Hiwdl 1. Daulatabad 2. Fatehpur Sikri
3. WU 4, oot 3. Agra 4. Delhi
147. SRS & =IE HH T SGEE 7 147. Who become the Mughal emperor after
1. TRIGR YME Aurangzeb?
2. EIGY ¥E 994 1. Jahandar Shah
3. IeATH 2. Bahadur Shahl
4, wEIGLINE STHL 3. ShahAlam
4. Bahadur Shah Jafar
148. SreRIfETT fohe o WG 3T 2 148. In which year Vasco da Gama came (0
1. 1350%. 2. 1450%. Tiia?
3. 14983 4. 1598%. 1. 1350AD 2. 1450AD
3. 1498 AD 4, 1598AD
149. Wn@qmﬁwmﬁﬁ? 149. Who founded the Indian National
1. e TR Congress?
3. TER -q%a 2 QlleenViCtOI]-a
4. T 3. = 3. Sardar Patel
4, A.O.Hume
150. ‘v ! wit’ faH foran ? 150. Who wrote "The Discovery of India"?
1. TR A EE 1. Jawahar Lal Nehru
2. ¥E IS 2. Sharat Chandra
3. e A 3. Karl Marks
4. W TR 4. Mahatma Gandhi
151. Sifearel 9F1 6vs e g1 151. When did Jalianwala Begh incident occur?
1. 1917 2. 1918 1. 1917 2. 1918
3. 1919 4. 1920 3. 1919 4, 1920
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152. ErEl A fas 9 faar- 152. Who started the Dandi March?
1.l §aES 1. SwamiDayananda
2. WHgA HiA HIFAET 2. Madan Mohan Malviya
3. el R faers 3. Bal Gangadhar Tilak
4. REICHI T 4. Mahaima Gandhi
153.  siEifafad 3 9 S WS &1 s 153. Which among the following is the
T autobiography of Gandhiji?
1. shvew feasss 1. IndiaDivided
2. WH A AfET 2. Nation in Making
3. e gim 3. Neel Darpan
4. W I faz 29 4. MyExperiments with Truth
154, fo=fefed 5 | &M Yo 999 a3 2- 154. Which one of the following is the oldest
1. et 2. SWET mountain system?
3. waqel 4. fa=n 1. Nilgjri 2. Aravali
3. Satpura 4. Vindhya
155, TR 9 =Rl SIFT < 2 155. TheRagur Soil is also known as:
1. o fag 2. s fazt 1. RedSoil 2. Yellow Soil
3. el g 4. el g 3. BlackSoil 4. AlluvialSoil
156. 71 Aygl 4 | ®F YR AFF Gl 156. Which of the following groups represents
yfaffae e & cash crops?
1. TG, S, = 1. Wheat, Barley, Gram
2. ®YM, 2, T 2. Cotton, Jute, Tobacco
3. M, B, W 3. Paddy, Pea, Tur
4. ¥, =, v 4. Gram, Maize, Moong
157. 9 U= Forad e T =@ - 157. Thestate from which the Tropic of Cancer
1. faqu 2. ufgam 9me does not pass
3. fasim 4. nfog 1. Tripura 2. WestBengal
3. Mizoram 4. Manipur
NTS 2021 (30) contd.




158. Frefated § @ #F @€ gifaa @& & 158. Which one of the following is not correctly
T a8 matched?
1. 3EE TeHIfEarHt State - Miningarea
; 5 ' ; 1. Odisha - Gurumahisani
< B E_ 2. Jharkhand - Novamandi
3. SHATe - wHICTEE! 3. Chhatisgarh - Kalahandi
p 4. FHAlEH EiEiC ! 4. Karnataka - Bababoodan
159. Trefafaa o @ =6 aaﬂqﬁqq—ﬂ@a 159. Which one of the following is the source of
1. diFEEe 2. fo= 1. Bauxite 2. Zinc
3. € 4, f= 3. Lead 4. Tn
160. Frefafaa d @ = favg #) =9 o=l 160. Which of the following is the longest river
} Tl - of the world?
} 1. oReH et 2. giftedt =€l 1. Amazonriver 2. Yangtzeriver
3. TG 4, el A 3. Gangariver 4. Nileriver
161. ammﬁﬁ'n@ﬁaﬁﬁ% 161. TheTodatribesaretheoriginal inhabitants of:
rr 1. swEe wated 2. Sl were 1. Aravallibills 2. Nilgirihills
3, waqel wiedi 4. & e 3. Satpurahills 4. GuruShikhar
r 162. O% T Sl forgen e gl fem & 162. The state where Shipki-la pass is located
f 1. areunge v 2. fafesn 1. Arunachal Pradesh2. Sikkim
3. feqma9ew 4. HEEHA 3. Himachal Pradesh 4. Meghalaya
163. T Sl i ITH - 163. The source of the origin of river Narmada:
1. SR 2. s 1. Bhedaghat 2. Brahmgiri
3. HEORal 4. IHTHEH 3. Mahabaleshwar 4. Amarkantak
164. @ AT W@l ygw g e wee # 164. The city where the first Earth summit was
1. farfeS 2. vEE 1. RiodeJaneiro 2. Shangai
3. AfeAl 4, WA 3. Tokyo 4. Manila
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165.

166.

167.

168.

169.

RA 1 Ha ATt SHEET o /el
el

1. WYY 2. fasr

3. ufvmHEmE 4. &t

Afqur™ | & veel S o
1. 09 feda 1946
2. 10 [T 1946
3. 09 37T 1946
4, 20 SHA 1946

" Rt wfau & frfa’ e s E-
1. . Hime sTEE

2. Sl USs y4g

3. Y. SRR e e

4. I T

e A S H fe v @
1. 9Ra e amEm

WA @ qegafd

YRA & THHH]

Qo = & 7&a =mni

ol S

T G F TIH A 4
1. Wq@aw
3. 3Fd VEAH SETR

165.

166.

167.

168.

169.

The most densely populated state of India?
1. Uttar Pradesh 2. Bihar
3. WestBengal 4. Kerala

The first meeting of Constituent Assembly
was held in-

1. 09 December 1946
2. 10July 1946

3. 09 August 1946

4. 20 January 1946

The Architect of the Indian Constitution was-
1. Dr. B.R. Ambedkar

2. Dr. Rajendra Prasad

3. Pt.Jawahar Lal Nehru

4. Mahatma Gandhi

The Chief Election Commissioner is
appointed by-

1. Election Commission of India

2. President of India

3. Prime Minister of India

4. Chief Justice of Supreme Court

The first speaker of Lok Sabha was-
1. Ganesh Vasudev Mavalankar
2. Pt. Govind Vallabh Pant

3. Ananthasayanam Ayyangar

4. €. gaHUHy 4. C.Subramaniam

170.  fven =1 safueRi stfafam o gan- 170. Rightto Education Act came into effect on-
1. 2005 2. 2010 1. 2005 2. 2010
3. 2008 4, 2012 3. 2008 4. 2012
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17.

172.

173.

TR U ae AAfus afwee SHi-
1. 1990 2. 1993

3. 1994 4, 199

AT B oo YHR I TEaAan &
T

1.5

3. 4 8

1. ISl &l 2. FREUS &l
3. ofygq ST T 4. BAEIG h

171.

172.

173.

The Panchayati Raj System become more

powerful in year
1. 1990 2. 1993
3. 1994 4, 199

Under Right to Freedom' types of

freedom is given to Indian Citizen.
1. 5 2. 6
3. 4 4.8

"Forward Bloc' is a regional party of-
1. Odisha 2. Jharkhand
3. WestBengal 4. Chhatisgarh

174. ‘TSI QI TSaEA ' R TS g 174. 'National Democratic Alliance' was
1. w1998 H 2. SH 199 H founded in -
3. WE1999H 4. ST 1997 H 1. May1998 2. June1996
3. May1999 4. June1997
175. IR B WO A 175. The ChiefJustice of India is-
1. Sifed e srfa< e 1. Justice Sharad Arvind Bobde
2. Sifed oM T 2. Justice Ranjan Gogoi
3. wifew dus fAsn 3. Justice Deepak Mishra
4. s s o Bt 4. Justice Jagdish Singh Kheher
176. I H Yo eeri AT w1 HE A 176. What was the prime objective of first five
s a? year plan in India?
1. it forehrd 1. Development of Agriculture
2. RIS 2. HeavyIndustry
3. SHEeE AT 3. Population control
4, uiEe 4. Transportation
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177, HAGT o1 Foharoe e § Y g ? 177. Manrega was implemented from the year?
1. 2005 2. 2006 1. 2005 2. 2006
3. 2007 4. 2008 3. 2007 4. 2008
178. T Site = f719 (LIC) &1 qeer™ 178. Where is the headquarter of Life Insurance
Fa 8- Corporation (LIC)?
1. foeet 2. gm=rE 1. Delhi 2. Mumbai
3. = 4. Hich 3. Chennai 4. Kolkata
179. Wiafiek &5 1 w5 2 179. Which of the following comes under
1. & 2. @M Primary Sector?
3. fafasior 4, MR 1. Agriculture 2. Industry
3. Mamufacturing 4. Trade
180 A SIS I HEATTA Fal - 180. Where is the headquarter of Tea Board
1. grsifer 2. SeE located?
3. hIcTeRTdl 4, HF=E 1. Darjeeling 2. Bengaluru
3. Kolkata 4. Mumbai
nfurg Mathematics
181, AT =07 1 2x FUAZ 181. If x— (7 thenwhat is the value of 2
1. 14 2. 15 1. 14 2. 15
3. 154 4. 145 3. 154 4. 145
182. AR g¥=p b =¢, ¢? = @@ XYz HIHA 182. If @* =b, b’ =c& & =a, then the value
@ of xyz is
1. 1 2. 0 1. 1 2. 0
i, o 4 ‘
. . abc 8. P 4. abc
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J3=1

183. e N —atbV3 G sy @
zriz; \/5+1 a b
HH -
1. a=2,b=-12. a=2,b=1
3. a=-2,b=1 4. a=-2,b=-1
xa+b.xb+c.xc+a %
184. HTHA &
(xa.becc)2
1. x2 2. xa+b+c
3. yabe 4. 1
185. THIEOI, ql+x | l-x _ 50 FEAE
1. 0 3. 2
3. +1 4, 3w | &1 TR

186. et =afd =1 A9 10% =21 & =i €,
5 wed T A § A @ e fow

183. If

184.

185.

186.

V31 =

— =qa+b /3 th 'Y
J§+] V3 |, then the value of 'q
and'p'is

1. a=2,b=-12. a=2,b=1

3. a=-2,b=1 4. a=-2,b=-1

+4 +c _¢C
4 r_xb 5 +a

The valucof (“a b c)z is

§ A S &

1. x2 2. J‘:a+:b+|r:

3. abe 4. 1

The solution of the equation
T 47 =501

1. 0 2, 2

3. &1 4. None of these

A man's salary is reduced by 10%. In order
to have his salary back to the original

amount it must be raised by-

1. 8% 2. 10% 1. 8% 2. 10%
3. 115% 4 1229% 1110, 123
; 9 . 7 3. "§/0 4, ; ©

187. 500 %. T 10% T 15% 1 20% BI- 187. 10% of 15% of 20% of Rs, 500 is
1. 0.50%. 2. 3.50%. 1. 0.50Rs. 2. 3.50Rs.

3. 1.50%. 4, 2.50%. 3. 1.50Rs. 4. 2.50Rs.

188. ek IR 10 T. 1 11 O @ledl & i 188. A shopkeeper purchases 11 pens for Rs.
11 %. T 10 9 = &1 @ e gfaea 10 and sell them at the rate of 10 for 11
BT then the profit percent is;

1. 18% 2. 19% 1. 18% 2. 19%
3. 20% 4. 21% 3. 20% 4. 21%
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1
Zma’mmwmx

T\ﬁl%?ﬁxiﬁlmﬁ’ﬂ—
1. 4 2. 5
3. 6 4, 7

1
189. Afg 3 agn

190. 4fe A &t &, g & a1 § 20% sfusw
RA B o™ -
1. A S FUE
2. A9 2% FH

2
3. AW 155% ®H
4. A" 15% ®H

191. TRt sifead o 53 tfaan 29 =+t wifgswar

189.

190.

191.

1

3

difference then the value of x is-
1. 4 2, 5

3. 6 4. 7

1
Ifthe sum of — and Z is x times of their

IfA's income is 20% more than B. Then
B's income is-

1. SameasA's

2. 20%lessthanA's

2
3. 165% lessthan A's

4. 15%]lessthanA's

What is the probability that a leap year
contains 53 Sundays

T " 13 7 " 13
2 G Y 2
3. 'l 4. 39l | 9 RE T 3. el 4. None of these
192. sin@xcos@ HT AdH AH BT 192, 'Iheminimmnvalucofsin @ cos @ 1s
1. 0 2. -1 1. 0 2. -1
e i L1 , 1 . L
) 2 2 ’ 2 2
193, (1012_1) 111 A fawfm =0 = 193. When (1012_1) is divided by 111 the
HATES &1 quotient is;
1. 9009009 2. 9009009009 1. 9009009 2. 9009009009
3. 9000009 4. 900000009 3. 9000009 4. 900000009
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194. A log3x+4 = [0g729 a X W'HH?NT— 194. Iflog3x+4 = 10g729 thenvalue of x willbe
1. 3 2. 1 1. 3 2. 1
3. 6 4 2 3. 6 4. 2
195. 4fg p ARG p ¥ Yfafed FMH L p 195. Ifp persons working p hours a day for each
G p aeiE FM F AT T A SO g of p days produce p units of works, then
@rt wfafed g w9 W e g KA A the units of the work produced by q persons
fera A T HT - working q hours a day for each q day is
Lz , 7 Vi
p2 . p3 1. p2 2. P3
; » 4 r . p’ ) P’
2 . 2 . 9 .
q q qZ q2
19 AfQ 100, 5,99 4 (x+1) ¥ Yoiaam 196. If 100 5,99 . is fully divisible by
fsra &4 ¢ 1w Em- (x-+1) then value of k will be
L. 7 & 1. 7 2. -3
% & % 1 3. 2 4. 1
197. Tt S i Fon 10% et < 9= @ 197. If radius of a right circular cylinder is
SR # fba gfaea @ fe s 5 increased by 10%, then by what percent it
S BT A STafafda ©- height should be decreased so that its
1. 17.26% 2. 17.36% volume remains unchanged
3. 17.46% 4. S H Q@ FE 1. 17.26% 2. 17.36%
&t 3. 17.46% 4. None of these
198. AR Jx+1-+/x—1=1 7T x FHAABM- 198. ¥ Jx+1—-+/x—1=1 thenvalueof x is
s , 2 s , 2
- I . 3 . 2 .3
L N L4 N
5 © 5 " B 5
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199. el 30 € ¥ fSFT 1 9§ 30 TF & ITH 199. There are thirty cards numbered from 1 to
aifera ¥, 370 | U w1 ageedl fAsen 30. If a card is drawn at random find the
S ¥, 9 WIS W AU HEAT A H probability that, the drawn card has a prime
iferepan aF - number-
1 1 1 1
L 2 2. 5 1. 5 2 3
1 1 1 1
37 45 3 o 4. 5
200. maﬁ@@wm@tﬁwwwa@ 200. Aninsectwhich s climbing onavertical pole
@ ¢ b T T F w2 'ﬂﬁ?{wiﬁm in sucha way that on one day it climbs a height
¢ ISP 'i' fﬁ 1 tﬁ—a:ﬁ'—égftm% of 2 m on next day it comes down 1 m. If
;‘f&@u}?ﬁ : JIE‘ 12 I A FoRe e height of the pole is 12m, find the no. of days
& ¥ TG - in which it will reach on the top.
1 e 2. 121 1. 11days 2. 12 days
3. nf 4. nfa 3. 21days 4. 22days
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